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BECC-113 : INDIAN ECONOMY—II

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from all the Section as per

instructions.

Section—A

Note : Answer any two questions from this Section

in about 600 words each. 2x20=40
1. Discuss the specific objectives of monetary
policy.

2. Explain the provisions for social security for the
organised and unorganised sector workers in

India.

P.T.O.



3.
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Describe the instruments of ‘agricultural policy’

in India.

Discuss the major policy initiatives needed
for the development of Services Sector in

India.

Section—B

Note : Answer any four questions from this Section

10.

in about 350 words each. 4x]12=48

Differentiate between the terms fiscal deficit,

revenue deficit and primary deficit.
Distinguish between FDI and FII.

Indicate the interdependence of agriculture

with industry.

State the determinants of ‘agrarian relations’
in terms of land tenure and agrarian

structure.

Distinguish between ‘public investment’ and

‘private investment’.

Highlight the major features of the New
Industrial Policy, 1991.



11.

12.
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Bring out the features of SSIs in India in terms

of ‘units, employment, output and exports’.
Section—C

Write short notes on any #two of the

following in about 100-150 words each : 2x6=12

(a) Market constraints

(b) De Minimis

(c) Water use efficiency

(d) Subsidies

P.T.O.
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